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Math 397 Spring 2016 Quiz 3 Name/)a lehy MCWM

Section 4 Le/_
Show all work. Incomplete answers may receive little or no credit. Yowk-#€ed not simplify your
answers. All numerical answers should be exact, with no decimal approximations.

1. Consider the vectors u={4, [, 3) and v={(-2, 3, 4)
(a) Finduevy

y 2D+ ({2} * }(’4\

-y + 12

= 7

@V =

\

(b) Find 8, the angle between the two vectors.
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2. Are the vectors a =(1, 2,-3) and b=(-4, 5, 2) orthogonal? Show why or why not.
m Vec’ruj are orthogonal J‘ and m&j {1. UW-v=0
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3. Write down a nonzero vector that is orthogonal to v ={2,~1, 5). Hint: There are infinitely

many COrrect answers. |
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